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$B:5A38 (%) BT M FEROHFLEH

B K4 24 #l &R o8
100m EE BX 3 1 3 12”1
am___ X 3 1 4 1272
WA EE 3 2 2 1272
At =1 3 1 6 1274
JIF EEX 3 2 4 1274
TR EBE 3 3 2 12”5
£l _BA 3 3 2 1275
E  1E 2 4 1 1275
AH AKX 2 2 6 12”7
find IEAER 2 6 1 1277
ER =K 3 3 5§ 12”8
AN BEAXER 3 3 6 1279
RHF EX 3 5 2 1279
I 54 3 4 4 1370
By FE4 3 4 4 1370
Bi5 Eth 2 6 3 1372
X =2 3 6 4 1373
T _EX 3 5 3 1373
tiZE B&EIR 3 5 3 13”3
EH K4 2F H EIE o8k
200m  EiZ BX 3 3 1 2572
El  1& 2 2 3 2577
BN BER 3 4 1 26”1
Aft = 3 1 5 26”1
fzFH TRAER 2 3 4 26”3
£l BA 3 5 1 26”7
B EAE 3 4 3 26”8
NI B4 3 2 4 26”9
A X 2 1.6 2770
RHF EBEX 3 4 4 2777
Bi5 ZE 2 6 1 2779
T EX 3 5 DNS
EH K4 2FE H B &k
400m AR EAE 3 1 4 61”0
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K4 S M HIE o8k
=25 AK 3 1 1 2'10"2
AP KiE 2 1 3 2'13"7
He #&X 3 1 5 2'15”1
=25 EBX 2 1 8 220”1
K4 S O EIE o
Hi¥ IRitmd 3 1 5 436”7
HWME BEFE 3 1 6 44172
fi% shBH 3 2 5 503”5
K4 S O EIE o
Hep $%X 3 1 2 9'35”3
Hi¥ IRitmd 3 1 3 950”9
kiE =B 3 1 6 1005”5
K4 B H EIE ok - S
JIFT BEK 3 1 1 19”9
K4 #H EIE ok - S
B15 -0 H R4 ER 1 2 50”6
B ah - E - AR 1 6 60”5
K4 #24 # FEB 8%
JLiZE BEIR 3 1 3 1m35
K4 2HF H EIE 8%
WA FE 3 1 1 5m55
mm K 3 1. 3 5mi5
EAR =8 3 1 5 4m75




